

الف) $y^2 = 2x^2 + 2x - 1 \Rightarrow 2x_1^2 + 2x_2^2 = 2x_1 + 2x_2 \Rightarrow x_1 = x_2 = 1$ ✓✓
 ب) $a \cos y = y \cos x \Rightarrow \frac{\cos y}{y} = \frac{\cos x}{x} \Rightarrow x = 2k\pi + \frac{\pi}{2}$ ✓
 ج) α ✓
 د) α ✓
 ه) متغیر مرکب در این رابطه نیست ✓

۱

$f(x) = \begin{cases} 2x^2 - b : |x-1| \geq 2 \\ a+2x : -3 \leq x \leq -1 \end{cases}$ $|x-1| \geq 2 \Rightarrow \begin{cases} x-1 \geq 2 \Rightarrow x \geq 3 \\ x-1 \leq -2 \Rightarrow x \leq -1 \end{cases}$

$\begin{cases} x = -3 \Rightarrow a + 2(-3) = a - 6 \\ x = -1 \Rightarrow a + 2(-1) = a - 2 \end{cases} \rightarrow a - 2 = 2 - b \Rightarrow \boxed{a + b = 4}$ ✓
 $x \leq 1 \Rightarrow 2x^2 - b = 2(-1)^2 - b = 2 - b$

۲

$f(x) = \sqrt{a - bx - x^2} \quad [b, a] \quad a+b$

$a - bx - x^2 \geq 0 \Rightarrow x^2 + bx - a \leq 0$ a, b, a $\cdot 1/25$

$S = -b \rightarrow a + b = -b \rightarrow a = -2b$

$P = a \times b = -a \rightarrow b = -1$
 $a = 2$

$y = \frac{r}{\sqrt{ax^2 + bx + c}} \quad (-\infty, r)$
 $ax^2 + bx + c \geq 0$

✗

۳

الف) $|a| - [a] \neq 0 \Rightarrow a \neq 0 \quad Df \subset \mathbb{R} - \{0\} \quad Df \subset \mathbb{R} - \omega$

۱/۵

ب) $\sqrt{x} + \sqrt{y} = 9 \quad \sqrt{y} = 9 - \sqrt{x}$
 $9 - \sqrt{x} \geq 0 \rightarrow \sqrt{x} \leq 9 \quad x \leq 81$
 $Df = [0, 81]$

۵

ii) $f(x) = \sqrt{\log_{\frac{r}{r-1}} x}$ $\Rightarrow \log_{\frac{r}{r-1}} x \geq 0$ $\Rightarrow x \neq 1$ $\frac{r}{r-1} < x < \frac{r}{r-1}$ $\frac{r}{r-1} < x < 1$
 $\Rightarrow [\frac{r}{r-1}, \infty) - \{1\}$ $D_f = (\frac{r}{r-1}, \frac{r}{r-1}] \cup (1, \infty)$ $\cdot < x-1 \leq x$ 1

$\Rightarrow \log \frac{1}{4 + \sqrt{|x|} - |x|} \Rightarrow 4 + \sqrt{|x|} - |x| \geq 0$ $x \leq \frac{r}{r-1}$
 $\Rightarrow 4 - |x| + \sqrt{|x|} \geq 0$
 $-2 < \sqrt{|x|} < 4 \rightarrow \sqrt{|x|} < 4 \rightarrow |x| < 16$
 $-4 < x < 4$ $D_f = (-4, 4)$

$\frac{r(x+r)}{x+b} + a \geq 0 \Rightarrow \frac{r(x+r) + a(x+b)}{x+b} \geq 0$
 $x+b \neq 0 \Rightarrow x \neq -b$ $a = -r$
 $b = -r$ 0

$f(x) - x + 1 \geq 0$ $f(x) \geq x-1$ $\Rightarrow \begin{cases} x \geq 1 \Rightarrow r(x-1) \geq x-1 \\ x < 1 \Rightarrow r(x+r) \geq x-1 \end{cases} \Rightarrow \begin{cases} x \geq 1 \\ x \geq \frac{r}{r-1} \end{cases}$ 2

$f(x) = \begin{cases} r(x-1) & x \geq 1 \\ r(x+r) & x < 1 \end{cases}$

$U \Rightarrow \left(\frac{r}{r-1}, \infty \right)$ ✓

$\frac{r(x+r) + r(x+r) + 1(x+r)}{(x+r)^r} = \frac{r(1(x+r) + 1(x+r) + x+1)}{((x+1)^r)^r} = \frac{r(x+1)^r}{(x+1)^r} = \frac{r}{x+1}$ $\Rightarrow D_f \in \mathbb{R} - \{-1\}$
 $\hookrightarrow x \neq -1$ 2

$1 - \log(r(x-a)) \geq 0 \Rightarrow \log(r(x-a)) \leq 1 \Rightarrow 0 < r(x-a) \leq 1 \Rightarrow a < x \leq \frac{1+a}{r}$
 $\frac{a}{r} < x \leq \frac{1+a}{r} \Rightarrow b = \frac{a}{r} < \frac{1+a}{r} \Rightarrow -b < \frac{1+a}{r} - \frac{a}{r} = \frac{1}{r} \Rightarrow a$ 2